= A
N = 0] &F AF S & AN A
20218 &= 20l AF LBHSH & Al
2MK: HEAED
HE: ofelol MMEE X9
Sol YMMBS XD EERED
- _ _ RE]
S EH B (BH) - MBAY - BAS Ol At o %@ﬁ HRE2
IRk 7,773,575 9,915,742 ~2,142,167
= 1,304,860
g 74,000
= 6,394,715
ool Masts X 7,713,774 9,845,214 N2,131,440
= 1,304,860
= 74,000
o 6,334,914
HgMasEts X 4,079,300 4,066,900 12,400
= 305,000
o 3,774,300
HEA fHA E2ZEH BESAMG(SI2E)(=2D) 366,000 459,600 A 93,600
= 305,000
=} 61,000
403 XX SRS K20 & 366,000 459,600 A 93,600
= 305,000
& 61,000
01 MXSHAHNEE X 366,000 459,600 A 93,600
O1NsEE L&J|& - ZH| - 844X WA XA 366,000
= 305,000
& 61,000
OOl DIMOLAH ALY K| & 2,221,100 2,245,000 A 23,900
202 04| 4,000 5,000 A 1,000
01 2L I 4,000 5,000 A 1,000
OO POl QIMOIHAIY F& 4,000
308 XHXIGH SO0l & 2,217,100 2,240,000 A 22,900
01 AIKISHHENEXZ 2,217,100 2,240,000 A 22,900
oOHgE HAMs 2213 2,110,000
OFUHAZ2 OIXEA 73,500
OYxa 22X & S$EX E5 AE 33,600
HMZY Se L A 245 X 1,492,200 1,362,300 129,900
202 044 2,200 2,500 A 300
01 2L Y| 2,200 2,500 A 300
OHE&EH 8l & YAIHY 43 =& 2,200
403 XX SHHS K201 & 1,490,000 1,359,800 130,200
01 XS A2E X 1,490,000 1,359,800 130,200
OH=ZotM &St &Hl K& 182,000
O2HHsE s=A& 198,000
ool MEIHAS HHl K& 50,400
OO A =5 MII&H £ XX 98,100
OHF B H2E AL 240,000
O &7 A X 241,500




SN HYESD
HH: 0l MMEE XE
ool OlYMAES K CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@i HRE2
OUHEHEAH A HH| 135,000
OUEZTNEA B8 A 72,000
O ESHAH =2 X 30,000
Odot KXY =& Cl&2II2 A X& 189,000
OEZTAA ¢ L AIRA HU| 54,000
HAHE e £ nsad 4,000 130,000 A 126,000
(RS M= == 4,000 7,000 A 3,000
201 Bt 4,000 7,000 A 3,000
01 AP 22| H| 4,000 7,000 A 3,000
O4E HY+MNDREAS 29 4,000
THoH Ol & & Y E A HEF 876,216 3,318,100 N2,441,884
= 36,300
& 839,916
X)), HsSASAH|, VHF-DSCS M EHIE 2 (= 47,190 114,400 NB7,210
)
= 36,300
& 10,890
403 XX SHH S X201 A 47,190 114,400 AN67,210
= 36,300
o= 10,890
01 XS A=2E X 47,190 114,400 NB7,210
OAEALD HEAALE 2= 47,190
= 36,300
& 10,890
HY XN 2922 579,900 517,240 62,660
201 LBt 9| 341,400 210,000 131,400
01 AP 22| d| 10,000 10,000 0
ONHEE ERIA=A 2dXE S 10,000
02 222%4| 331,400 200,000 131,400
OHEXNEN RF|H L &3 331,400
202 04| 60,000 70,000 A 10,000
01 2L I 60,000 70,000 A 10,000
OHEXNE=EH &S0 60,000
401 AlEHIZL 2 0HY| 175,000 234,740 ANB9,740
01 Al&EH| 175,000 230,000 A 55,000
OHEXNEN 3= & - 012 EIl=xel 175,000
405 XH&HF S HI 3,500 2,500 1,000
01 AL 2 FF S| 3,500 2,500 1,000
OHEXNEN 2HEE ¢ 3,500
HA&EAFD zerost OFM & H| A& 63,201 74,960 A 11,759




FAM IS
HE: ofelol MMEE X9
S Mohole ¥ HEEN (=& J)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
403 UHXSHHSA=0l& 63,201 74,960 A 11,759
01 X SHMA2E X 63,201 74,960 211,759
OO &AL zerozt QHMAHl K& 63,201
i Ol =2 EHl XI& 14,415 20,000 A5,585
308 XXM S0 A 14,415 0 14,415
01 IXNHHBNEES 14,415 0 14,415
O HlelHs et xRH X 14,415
L2EHLALIEX (X EH 162,000 238,500 276,500
403 XSS X201 & 162,000 238,500 AT76,500
01 X SHMA2E X 162,000 238,500 276,500
L2EHHLALIEX (HEH 162,000
sHHY Hs52x3 A& 9,510 0 9,510
308 XX EHH SOl A 9,510 0 9,510
12 JIEtRE=3 9,510 0 9,510
oOs8HY ts2x3g XA 9,510
ogel =XA& 1,534,851 1,000,170 534,681
= 498,400
< 1,036,451
el F2AY 2 RIHE X2 107,000 136,000 A 29,000
308 XXM S0 A 107,000 135,000 A 28,000
01 AXNSGHBLAEES 107,000 135,000 A 28,000
oditoidel AHM M=l & ABE 22 59,500
Qi+t RIH=E X 47,500
oeoge SXXd 2 HHsd N2 92,500 81,000 11,500
307 21201 A 4,500 5,000 A 500
02 It S AHE L 4,500 5,000 A 500
OW&E HEXSS ¥ 2tE3 4,500
308 XXM S0 A 88,000 76,000 12,000
01 AXNSHHBLEES 88,000 76,000 12,000
ondgoige HA=F XA 19,000
oddge =Xt Hd XA 69,000
g==0gel =X X 104,021 101,400 2,621
307 21201 A 87,200 60,000 27,200
01 =LA =4l 67,200 40,000 27,200
oOF=0gel zHl XA 67,200
02 RIZFEA MM E X 20,000 20,000 0
OuE gl rd=Es X& 20,000
308 XX EHH SOl A 16,821 41,400 A24,579




FAM IS
HE: ofelol MMEE X9
Sl 0l =X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 XX EHXI 2 X = 16,821 41,400 A24,579
ous g == XA 16,821
Mo2a B8z N 498,000 501,000 A 3,000
308 XXM SOIA 498,000 501,000 A 3,000
01 AXHHBILEES 498,000 501,000 A 3,000
o0 Motl24 282 X& 168,000
O R THolEs 2Bz XA 330,000
SEsd =X NE Z3 104,500 133,600 A 29,100
202 Oddl 4,500 5,600 A 1,100
01 = LH 4 Hi 4,500 5,600 A1,100
oOxXEE =X NF F=H 4,500
308 XXM SOIA 100,000 124,000 A 24,000
01 AXHHIYEES 100,000 124,000 224,000
Og=edd nEHE XA 100,000
ool SXXA = 92,000 10,000 82,000
403 Ut S EX201H 92,000 10,000 82,000
01 X EHHMA=E L 92,000 10,000 82,000
Oz3dHEAN SXsl 22 30,000
OSEOUHEN 1Y ol M= 45,000
Os4ter (el FXsl2 Ald e 17,000
Hgas XA (=1) 11,800 37,170 A25,370
2 10,000
< 1,800
308 AHAIEHHSOIA 11,800 37,170 A25,370
= 10,000
< 1,800
01 HIXNHHNBHEES 11,800 37,170 A25,370
ongas N 11,800
= 10,000
< 1,800
THECNYE AU ZEHASE (2 D) 525,030 0 525,030
= 488,400
< 36,630
308 XXM SOIA 525,030 0 525,030
= 488,400
< 36,630
01 AXHHBLEES 525,030 0 525,030
OXAd=clANY =LA = 525,030
= 488,400
< 36,630
=MD IsEs & AR 2e 1,219,407 1,330,044 A 110,637
= 465,160
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=< F mr ok 31 0 oF X0 oF i
. M = — 0 7RO ol R o
= p 0 o = o 5 0 = ol 0
= K iy = s = MT O 30 R0
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- _ _ RE]
S C(BH) - HEAY - BAS %Eﬁ HR=2
= 12,000
& 5,143
HEXNEX Ds(HgoussaH & & 25,714 25,714 0
= 18,000
= 7,714
301 et A= 25,714 25,714 0
= 18,000
= 7,714
09 SHAIAHI X & 2 25,714 25,714 0]
OHEXNTA 23 AKX 25,714
= 18,000
=} 7,714
HANI HEH (MY NEEH & 12,000 12,000 0
= 8,400
& 3,600
307 giztol A 12,000 12,000 0
= 8,400
& 3,600
02 QI2tAAMAIE E =X 12,000 12,000 0
OEAOII HEEZ 12,000
= 8,400
o= 3,600
AEs2200Y SHAISH X (=21D) 34,800 58,000 N 23,200
= 30,000
o= 4,800
308 AMXISHMSOIA 34,800 58,000 A 23,200
= 30,000
o= 4,800
01 AIXSHMENEXZ 34,800 58,000 N 23,200
oOXNsS&2HYE EHAIY 34,800
= 30,000
& 4,800
A =2 75,000 119,100 AN44.100
308 XHXIEH SOl A 75,000 119,100 N44.,100
01 AIXSHMEMNEX= 75,000 119,100 AN44.100
OUE0N Y = 75,000
MESSEH2AL(Z2D) 40,000 40,000 0
= 20,000
= 20,000
201 2Et24Hy| 1,000 1,000 0
= 500
& 500
01 AP 22| H| 1,000 1,000 0
Ox=NsSESEYae 1,000
= 500




FAM IS
B ojgol MUBE KW
o2l A sEE 2 a2 EEREEED)
SN - HB B (B) - HRAY - BAS 0l b SSa DS
=) 500
307 12+l & 39,000 39,000 0
= 19,500
< 19,500
05 RIZtRE = 39,000 39,000 0
O=dtsSEHE el Q2AuAE 39,000
= 19,500
< 19,500
IIMEAHMAML (=1) 20,000 20,000 0
= 20,000
307 glz2+ol & 20,000 20,000 0
= 20,000
05 RIZtRIE = 20,000 20,000 0
OJHSFHAL 20,000
= 20,000
eI HADKH (D) (NE) 6,000 6,000 0
= 6.000
201 LEr2 A | 6,000 2,000 4,000
= 6,000
01 At 2t2l bl 6,000 2,000 4,000
olszeldgy us € g8 425 7Y 6,000
= 6,000
HE oo do3EN2 K3 (21) 70,150 64,875 5,275
= 62,160
=) 7,990
308 X EH SOl A 70,150 0 70,150
= 62,160
< 7,990
01 HIXNHHNBNEES 70,150 0 70,150
O&3E e FAXE 70,150
= 62,160
< 7,990
HE oo oI A2 X2 (L) (=22) 3,600 2,632 968
= 3,600
308 XXM SO A 3,600 0 3,600
= 3,600
01 AXHHBIYEES 3,600 0 3,600
OFYE ool HAXA(HEH) 3,600
= 3,600
TAY HESI XA (2D) 400,000 400,000 0
= 200,000
< 200,000
308 MtXIEHMSOIH 400,000 400,000 0
= 200,000
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